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Note: you have four choices for each objective type question as A, B, C and D. The choice _u:).';d’ﬂ;mrr
which you think is correct, fill that bubble in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.
Q.No.1 A A
(1) Insuline and Glocagon are made by:- _;{?gub”b’)ﬁ;luﬁﬂ (1)

(A) Pancreas }Lﬁv (B) Liver zg

(C) Hypothalamus (722 (D) Adrenal gland ¥ f.41
(2) The bone in which blood vessels are found:- _;_Jlggji; /E}J-Egﬂgﬁd)} (2)

{A) Compact bone u:ﬂ.ﬂ?f( (B) Spongy bone c!.-fj,f":;'

(C) Bone marrow s iy (D) None of these u:";_y‘féfc.uﬁul
-

sriedfout by, cetnd 3L Jfl{u’gﬂ{;gé‘:dﬁ&g (3)

(3) Process of vegetative propagation in onion is

(A) Corm r.:f (B) Rhizome rs.iGi f (C) Buib ot ; ) (D) Stem tuber zﬁrf’

(4) Reproductive part of plant is:- ~ " ".__ . A H.;’:'__ _vP/is,g.;Kr._J{_’ (4)
(A) Stem [ (B) Leave (; (C) Root‘ 4 r (D) Flowei:;':dy.fl '

(5) Albinism is a trait:- oy \ e uc ALl A (5)
(A) Co-dominant et (B) Recessive ..,95' (C) Dominant /¢ (D) Incomplete domiﬁe:nt msu“(t

(6) Number of Nitrogen bases in D.N.A. is:- -g;iﬁJﬂ@;}’tpﬁ PR (5 (6)
(A) Four U (B) Three o () Two » (D) Five &L

(7) ____ break down complex organic compound. ..‘,_r:é‘_,/ }_né}?‘_,f..—..l_.f/éytafgv (7)

(A) Consumers ;;n_"f‘( (B) Producers J-¢/h,s  (C) Decomposers J;J;;iﬁi (D) All ¢
L r

(8) _______isanantiviral protein. _%g:‘,{d;:,@r_g pa—— (8)
(A) Urokinase <6y  (B) Interferon ¢s2 1  (C) Thymosin ol (D) Insuline u‘i’H'I

(9) Digitalis stimulate the organ:- : -.‘:.(1:...{]: O, i€ (9)
{A) Brain f,i.; (B) Heart s (C) Kidney E £ (D) Lungs « %%

(10) Larynx is a box which made up of:- -q.tﬂlzﬁq.;f(@.gu‘fé (10)
(A) Bone 4 (8) Cartilage &.¢ (C) Blood cells X%k (D) Muscles

(11) Latex is secreted by:- a{-JﬂiWL;C- S

(A) Rubber plant @){;iz; (C) Keeker /P, (C) Ladyfinger §,9d4z (D) Brassica ur,
(12) Temporal lobes is concerned with:- - tm}"‘ B’z)-ij_:’ (12)

(A) Visaul information Jw;.é) (B) Hearing and smell it (C) Fear Ji# (D) Taste 3
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2. Attempt any five parts.

(i) What is Double Pneumonia? Write reason.
(i) Write symptoms of Bronchitis.

(i)  What is Arteriosclerosis? Describe briefly.
(iv)  What is the difference between Transpiration and Guttation?
v) Write two benefits of Homeostasis.

(vi)  Define Coordination with example.

(vii) Wit the functions of Rods and Cones. SIS (il
(viii) Write the names of four parts of Eye. ‘Eégff'tziu:";vaJ? (viii)

3. Attempt any five parts.

10=2x5

- fe izl 8 3

Eokis Ao 5

(i) Differentiate between Exoskeleton and Endoskeleton. (i)
(i)  Whatare Hinge joints? Give an example. _EJedd st
(i)  How does yeast reproduce asexually? e t/u:_‘i:{ﬁjd__’c'.&_/l’d;‘?z_l P (1))
(iv)  Whatis Parthenogenesis? e AL (i)

(v)  How does double fertilization occur? e @n(%bid"g%f&:}'di (V)

(v  Differentiate between Homozygous genotype Sy L_«J)u:%;m?u'?u,ﬁ 2 _T:M,;fﬁ e (i)
and Heterozygous genotype.

ol i BTy (vil)

E A LS i)

- ferlinible & -4ty

LA

Y900 2L )

- EOIEEIS, (i)

Ry ISy )

LA w

el T3l (Vi)

CEnLE LIl (il

_4‘{;;.41»;/& opdle T (i)

{vii)  State Law of Independent Assortment.

(vii)  Differentiate between Co-dominance and incomplete Dominance.
4. Attempt any five parts. 10=2x5
(i) Define Ecosystem.

(i) Define Biogeochemical Cycle.

(i)  Differentiate between Population and Community.

(iv)  Define Genetic Engineering.

(V) Define Fermentation.

(vi)  What is meant by Pharmaceutical Drug?

(vii) Name any four sources of Medicinal drugs.

(vii) Write down the role of "Joseph Lister".

NOTE: - Attempt any two questions. 18=9x2 _g‘f;fauﬁé.wtmc.éf BT
5.(A) Write note on Kidney Transplant. 4 _u:“’ﬁ:.}{.:.; w3y (N5
(B) Explain Spinal Cord with the help of diagram. 5 Gl PSS ()
6.(A) What is meant by Cartilage? Explain its three types. 4 _qj}.:u;urrtiwf;fm e e mls S (-6

(B) Explain Male Reproductive System of Rabbit with label diagram. 5 - :/..w Loy J’(b’d }fis,g,z Wl Jf ()
oL St (-7
eSSl S (L)
26-2019(A)-43000 (MULTAN)

7.(A) Describe the stages of Nitrogen Cycle. 4

(B) Explain the basic steps of Genetic Engineering. 5
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Note: you have four choices for each objective type question as A, B, C and D. The choice -Q/ J’,G_,m,—
which you think is correct, fill that bubble in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay

(1) ____ blood vessels surrounds the Alveoli il Sl Qugk ()
(A) Artery $4T (B) Arteriol Jy.4T (C) Capillaries zx‘s” (D) Vein ¢/

(2) The weight of human kidney is nearly grams. ,g.t'nr'l/ﬁ jr— ['(;}Ju;;h’a,:ft}ul 2
(A) 110 (B) 115 (C) 120 (D) 127

(3) The largest part of Human brain is:- -;..a?lzc..h_./s“i,t:{.ufdl (3)

(A) Forebrain wjui (B) Midbrain .4 (C) Hindbrain ¢f4% (D) Medulla Usd

(4) Osteoporosis is a disease of:- —¢UrefiUsg Py (4)
(A) Bones Uzt (B) Heart U (C) Stomach (e (D) Brain $&bs
(5) The myelin sheath is formed by:- ,q_ém-;s 205 (5)

(A) Dendrites 043 (B) Axons 71 (C) Nodes of Ranvier se/s37/37 (D) Schwann Cell Jaul¥

(6) The scar present on Seed Coat is called:- e bRy LSk 6)
{A) Micropile Jlu.c L (B) Integument iz &35t (C) Hilum 15§ (D) Ovule Jyss!

(7) Rhizopus reproduce asexually by:- -a;.f}m.-_- N DRI LS @
(A) Binary fission ¢*1~1 (B)Budding £%  (C) Spore < s (D) Endosp-ore ey

(8) The scientist presented the Law of Segregation. - . _L_gLJ‘u"C /EM;UL. . Gl (8)
(A) Mendel JXz (B) Newton (/¥ (C hI;amar;{ S 4 (D) De Devi S1385

(9) Theory of Natural Selection was presented by:- - i ..l_._fu&:#z'_. v B /’V K4 L’e,@.:} 9)
(A) Aristotle 1 (B) Lamark JLU  (C) Darwin gut} (D) Malthus ujl

(10) is the Abiotic component of Ecosystem. I W I_.‘,_,Iifr‘*" £ (10)
(A) Plants <> (B) Animals sl (C) Decomposers J.u'){ 5 (D) Water LSL;,

(11) The complete map of Human genome was published in:- _lxc’:@u: o .si}’smaus (11)
(A) » 2002 (B) « 2004 (C) » 2006 (D) » 2008

(12) Mescaline is obtained from a plant:- et Mo ey fiier  (12)
(A) Datura 1%} (B) Cannabis 'tf  (C) Morning glory (56t (D) Cactus J"g’
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and its part number on answei' book, as given in the question paper.

' SECTIONA (Jile

5. Attempt any five parts. 40=2x5 _égfaym&lzlég;&f 2240w
@)  Whatdo you know about Nicotine? ?L,gz‘_.%f.f?\,r:g.)t,f.ff-’f (i
()  How you wil differentiate petween Stomata and Lenticels? Ly M PR ()
iy Whatis Asthma? Write its treatment. S Fest e )
(v) Whatis the role of skin in controliing the body temperature? e it/ Lﬂ.j..;ds/f:.-ﬁ/"._‘w(f)‘,\l? (iv)
(v)  Write down two adaptations in xerophytes 1o prevent loss of water. «40',5:9"\5’!)4- L&y &gé{}guc N V7R \)
{vi) Differentiate between Stimuli and Response. ,_z:r /';‘.w u) =z ol éuﬁ’ {vi)
(viiy What role does Medulla oblongat a play? ‘-’.;...l'ﬁ:bh/ 1.[ Lt_ugl}, Mgk (Vi)
(viii)  Write down the symptoms and treatment of Diabetes meliitus. sl /’} fc—,msl_—,m u’:: fhgedls (viii)
3. Attempt any five parts. 10=2x5 -é;;’aglga‘itmégc..&f 2340y
(i) Write two funtions of Joints. -g‘\:( v j:}b?!mf. J’V )]
(i)  Write two causes of Osteoporosis. -Jj.;,i,.?.n.-;fu/ug;é’si (ii)
(i) Whatis meant by parthenogenesis? ‘-‘9-:‘/‘.;( & J:ﬁ f«"zi; i)
(v) Whatare two advantages of Vegetative Propagation? S K inl U P2 SR (0]
(v)  What does develop from radicle and plumule of seed? Ui J::':t»!-ﬁénﬁ@ (v)
(vii Whatare Nucleosomes? 8 g;-,»,!,a (vi)
(viij  Differentiate between Dominant allele and Recessive allele. LZEOAMS Jf'r‘:”'m'd’-“-v’f' w5 (vil)
(vill) Wite two main sources of Variations. il S (viil)
4. Attempt any five parts. 10=2x5 -g{{fal,lzﬁlzléga,éf 4 )y
@) Write down any four effects of Deforestation. LML ( S dele s O
(i)  Define the term Predation. Write down its one benefit. -é{ ffu’ﬁ.@ _g,-f ! /JJ L—ﬁf»_; (ii)
(i) Whatis meant by Biogeochemical cycles? S )|f1_._fc.-)$-: v gy ()
(iv) Whatis Fermenter? Write down the names of two ways _agrtf_uﬁ! yrs ﬁ/ NS s\ W)
of fermentation carried out in fermenters.
(v  Write down any two objectives of Genetic Engineering. ..40 i SILE kg W)
(vi) What is meant by Bactericidal and Bacteriostatic antibiotics? ?q.;ylfﬁz.u'gf!,;?-l..@g PR 2h ()
(vi) Define Vaccines. o Ak i
(vii) Whatis Marijuana(Hashish)? Write its one bad effect. ,c;d}u,:_,f i e funge (Vi)
SECTION-II (34
NOTE: - Attempt any two guestions. 18=9x2 -g{;/’:,l_.izf.avlnm.éf wdid
5.(A) Write a note on structure and function of Nephron. 4 _._:‘*;’_xfa;’t_ﬂ‘_;@.{.u"z;!yv\fusk (.5

(B) Writea detailed note on paralysis and Epilepsy. _450..: J;J'fl;{f;ﬁnlj s ()
Lo g ST (-8
_éugpvk‘“}’ﬂgﬁun; ()
-4‘I¢.=}t¢_,E.uf_w,-,sé.wu,bfj,gqi;g (N7
-é #;uwb:;wéa‘-;u}:uﬁ’ ()
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6.(A) Define Cartilage and briefly describe its types.
(B) Explainin detail the cutting in plants.
7.(A) Describe acid rain with its two bad effects.

o B 9 O

(B) Write a detailed note on Single Cell Protein.



